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QUESTION 1

You have just installed an ESXi 6.x Host. As part of your company security regulations, a security banner 

must be presented on the console of the host. 

How can this action be accomplished? 

A. Configure the Advanced Settings > Annotations screen of the ESXi host. 

B. This is configured from the Direct Console User Interface configuration menu. 

C. It is not possible to configure a security banner for the ESXi host. 

D. From vCenter Server, this setting is configured globally in the vCenter Server configuration. 

Correct Answer: A 

 

QUESTION 2

Which two network failure detection options are available when using a vSphere Standard Switch? (Choose two.) 

A. Fixed with preferred path 

B. Dynamic 

C. Link status with Beacon probing 

D. Link status only 

Correct Answer: CD 

 

QUESTION 3

Which is the VDP appliance available storage configuration maximum? 

A. 2 TB 

B. 62 TB 

C. 8 TB 

D. 4 TB 

Correct Answer: C 

 

QUESTION 4

Which type of Adapter does not require vmkernel networking? 
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A. Independent Hardware iSCSI Adapter 

B. Dependent Hardware iSCSI Adapter 

C. Software iSCSI Adapter 

D. Software FCoE Adapter 

Correct Answer: A 

 

QUESTION 5

What is the default load balancing policy for a newly created VMkernel port on a vSphere Distributed Switch? 

A. Route based on originating virtual port ID 

B. Route based on IP Hash 

C. Route based on source mac address 

D. Route based on physical NIC load 

Correct Answer: A 

 

QUESTION 6

Which three actions are available in Troubleshooting Mode in the ESXi Direct Console User Interface (DCUI)? (Choose
three.) 

A. Enable ESXi Shell. 

B. Modify DCUI idle timeout. 

C. Modify Password. 

D. Restart Management Network. 

E. Modify SSH timeout. 

Correct Answer: ABE 

 

QUESTION 7

During a new vSphere Distributed Switch configuration, where does the Maximum Transmission Unit (MTU) value get
modified? 

A. Uplink Settings 

B. Switch Settings 

C. Portgroup Settings 
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D. NIC Teaming Settings 

Correct Answer: B 

 

QUESTION 8

ESXi 6.x can be installed upon which three supported hardware configurations? (Choose three.) 

A. Local disk connected through Serial ATA (SATA) 

B. Intel NX/XD disabled for the CPU in the system BIOS 

C. 1 GbE network adapter 

D. 2 GB of physical RAM 

E. Intel NX/XD enabled for the CPU in the system BIOS 

Correct Answer: ACE 

 

QUESTION 9

You need to add an object to an existing vApp using the vSphere Web Client. How is this accomplished? 

A. Create an Object Inside the vApp. 

B. Add an Object to a vApp. 

C. Add an Object to the Datastore the vApp is located in. 

D. Move all Objects to a new Datastore folder. 

Correct Answer: AB 

 

QUESTION 10

A company has recently incurred financial loss, due to a crashed server that resulted in the loss of critical dat 

A. Which two vSphere 6.x features should this company implement to protect against losing critical data due to physical
server failure? (Choose two.) 

B. Virtual Volumes 

C. Enhanced vMotion Capability 

D. High Availability 

E. Fault Tolerance 

Correct Answer: CD 
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QUESTION 11

vMotion can be performed between which three physical boundaries? (Choose three.) 

A. Between two vCenter Server Systems 

B. Between two vSphere Distributed Virtual Switches 

C. Between two vCenter Server Datacenter objects 

D. Between two VMware NSX Layer 4 segments 

E. Between two NFS datastores 

Correct Answer: ABC 

 

QUESTION 12

A new vApp was built and tested in the corporate headquarters datacenter running vSphere 6.x. What condition would
explain why the virtual machine is failing to boot in an offsite datacenter running on vSphere 5.5? 

A. The virtual machine was built with the default hardware version. 

B. The VMFS 5 datastore is not compatible with virtual machines configured with vSphere 6.x. 

C. A DRS 5.5 cluster cannot run virtual machines configured with vSphere 6.x. 

D. The VMDK file is locked. 

Correct Answer: A 

 

QUESTION 13

An organization has a number of virtual machines that would benefit from Fault Tolerance. These include: A single
vCPU Apache Server A dual vCPU vCenter Server A quad vCPU SQL Server An eight vCPU Hadoop Server Which two
virtual machines can be configured to use VMware Fault Tolerance? (Choose two.) 

A. Apache Server 

B. vCenter Server 

C. SQL Server 

D. Hadoop Server 

Correct Answer: AC 

 

QUESTION 14
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An administrator is creating a new vSphere Distributed Switch that will be utilized with a specific vSphere Cluster. The
cluster itself contains a mix of ESXi 5.x and 6.x Hosts. Which Distributed Switch version should be created to support
this configuration? 

A. Distributed Switch: 6.0.0 

B. Distributed Switch: 5.0.0 

C. Distributed Switch: 5.1.0 

D. Distributed Switch: 5.5.0 

Correct Answer: B 

 

QUESTION 15

Immediately after installing ESXi, an administrator observes that the Configure Lockdown Mode option is 

grayed out in the Direct Console User Interface (DCUI). 

What is the most likely explanation? 

A. The host has not yet been added to a vCenter Server. 

B. The BIOS on the host does not have NX/XD enabled. 

C. The ESXi host is running in evaluation mode. 

D. The host requires a reboot before this feature is available. 

Correct Answer: A 
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